P5.1

1
fog() = f(g(0) = fO* + 1) = 7
1

gof)=g(f@) =g(})= () +1=L+1=

X

1+x2
2

P5.2
fog(x) = f(g(x)) = F(x? +2x) =/x? + 2x
gof @) = g(f®) = g(vx) = (Vx)* + 2vx = x + 2V
P5.3
fog(x) = f(g(x)) = f(x®) = x* + 3
gof ) = g(f(x)) = glx +3) = (x +3)% = x5 + 9x% + 27x + 27
P54

Fazendo x = 3y + 4, e destacando o valor de y:
x—4

3

Jy=x—4 - y=

Resposta: f~1(x) = "3;4

P55

5y-3
Fazendo x = y—l e destacando o valor de y:

) x—3
x—5

xy—x=5y—-3 - xy—-5y=x—-3 - y(x—-5)=x—-3 -y=

Resposta: f~1(x) = E




